In this problem, assume that Mexico and the United States have the same aggregate

production function, the same δ (value for depreciation of capital stock), and the same n . In Mexico, real GDP per worker in 2000 is about 40% what it is in the United States, but Mexico is not near its steady-state level of output.

1. If the capital-labor ratio is the same in both countries, how much capital per

worker does Mexico have in 2000?

2. If the capital-labor ratio is the same in both countries, what does this model

predict will be the real interest rate in Mexico?

3. Why it is not plausible to assume that Mexico and the United States have the

same aggregate production function and that the capital labor ratio is the same

both countries?

4. Actually, Mexico only has 40% as much capital per worker as the United States

has. What does this fact imply about total factor productivity in Mexico? What

about the real interest rate in Mexico?
